	Num
	Population size
	1/10*N
	1/5*N
	1/2*N

	1
	Task1 average rank
	2
	2
	2

	
	Task2 average rank
	2
	2
	2

	2
	Task1 average rank
	2
	2
	2

	
	Task2 average rank
	2
	2
	2

	3
	Task1 average rank
	2
	2
	2

	
	Task2 average rank
	2
	1.4
	2.6

	4
	Task1 average rank
	2
	2
	2

	
	Task2 average rank
	2
	2
	2

	5
	Task1 average rank
	2
	2
	2

	
	Task2 average rank
	1.6
	2
	2.4

	6
	Task1 average rank
	2
	2
	2

	
	Task2 average rank
	2
	2
	2

	7
	Task1 average rank
	2
	2
	2

	
	Task2 average rank
	1.7
	2.1
	2.2

	8
	Task1 average rank
	2
	2
	2

	
	Task2 average rank
	2
	2
	2

	9
	Task1 average rank
	2
	2
	2

	
	Task2 average rank
	2.5
	2
	1.5

	
	Total ranking
	35.8
	35.5
	36.7

	
	Rank
	2
	1
	3


